Bellwork  Hon Alg2  Monday, February 13, 2017
232 +4x+30 _ 2(x+3)x-5)

hi ional function: = =
Use this rational function:  y S dr- 12 G- 16)
1. Find the equation of the HA, if any. 2. Find the equations of the VA, if any.
3. Find the x-intercepts, if any. 4. Find the y-intercept, if any.

5. Make a sketch of this rational function without using a graphing calculator, showing all asymptotes
as dashed lines, all intercepts, and the proper behavior around each asymptote.
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¥

6. Does each table of values represent Direct Variation, Inverse Variation, or neither? If it represents
a variation, write a variation equation.

a) b) ) d)
X |y X |y X |y X |y
4 |84 ~15 |-112.5 20 |24 ~18 |-63
~1.5[3.15 _8 |-60 ~16 |30 ~10 |-35
6 |-12.6 ~3.2 |24 ~3.2]150 8 |28
27.3 | -13 7 |s2.5 12 |40 12 [-40
21 |—44.1 12 |90 | 50 |-9.6 20.5|72
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1. Find the equation of the HA, if any. 2. Find the equations of the VA, if any.
y:*l— Y=ol , ¥X=]1.
3. Find the x-intercepts, if any. 4. Find the y-intercept, if any.
X="3/5 Y= A

5. Make a sketch of this rational function without using a graphing calculator, showing all asymptotes
as dashed lines, all intercepts, and the proper behavior around each asymptote. bt ond X\
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6. Does each table of values represent Direct Variation, Inverse Variation, or neither? If it represents
a variation, write a variation equation.

a) b) ¥ c) d)
X |Y £ X Y X X Y Xy X Y
-4 |8.4 15 (1125 {78 -20 (24 |-ySo -18 |-63 | +
-1.5]3.15 -8 |-60 |75 -16 (30 |[-4§0 -10 |-35 |+
6 -12.6 3.2 |24 25" -3.2 150 |-440 8 |28 |+
27.3 | -13) 7 |52.5 |15 12 |40 |-150 (12 |-40p-
21 | —44.1 12 |90 78 50 |-9.6 Y50 20.5|72 |+
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